@ 5x%xa @ a+a+a+a+a
@a+5 @ 3a+2a
® da+a

® 5xa=>5a

@a+a+at+a+a=5xa=5ba

®a+5

@ 3a+2a=(3+2)a=5a
®4da+a=(4+1)a=ba

@®, @, ®, ®&= 25 5a < Hlo] H|5 @F 5+ a o]t
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@ -2xx © -2+x
©® (-1)x2xx ® -1+2+x

@ -2xx=-2x
©-2+x

© (-1)X2xx=—-2x
@®-1+2+x=x+1
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@ 4a, -5a @ —x2, 6x2

® -5, 3

@ 4x2, 3x

@ 3ab?, Tab?
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5. o3 A o] @ o, x o] ATt 4 Q1 ALY
O -2x-6+5x-4 @ -3x+3-7x+6
® 4x-7-8x+5 @ 2x—2+3x-1

@x—5+7+3x

B

® —2x—6+5x—4=3x-10
@ -3x+3-Tx+6=-10x+9
®4x—T7-8x+5=—-4x—-2
@2x—2+3x—1=5x-3
®x-5+T7T+3x=4x+2
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oA T Alte] 5 a () 2 FH, &5 T AR A4
= 2a (7h) °]tt.
(1A AHE T FH)= ax (¥)

\ = 85 17
(QE A]'Jj]";—:_—- “11'_]_ 'ELQH[): 2a X mx = l—oax (%’l)
(VB BB A 1 A9 B A= LT g,
a a




b= (-25) +5 = (-25) x

soa?—-4b=32-4x (-5

= -5

— |

=9+20=29




8.

7120l t°C & W, F7] FolA £8]9 £Xx& 4 vm 2l S},
v =331+ 0.6t Q1 TAZ}E . Ao £ 24

71 &2 2 °C 7P

® 5°C ® 10°C ® 12°C @15°C

340m & o

® 20°C

v =340 ©]B2 340 = 331 + 0.6t, 0.6t = 9, 61 =
. t=15(°C)

90
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9. A=-—xtg . B=cx- AU A+24-B) +3BExE
AR-g-5to] LR Y
1 3
®§x+2 (@));4—1 ®§x—3
@ 2x+1 @§X_2

~&B ‘

~A+2(A-B)+3B
—-A+2A-2B+3B=A+B




10. ofd xof tiet Ao A] 2x - 5 & wopd Z1& ARkl HPE Y

5x+ 7 ©] H Atk A AL A2
©x+17 @ 10x-12 @ 3x-12
@ —3x+12 ® x+7

AZFAS A 2Hal oRAL

ZHES AL A4 (2x - 5) = 5x + 7 o[t

o] A& EH A=3x+127} Ak

27 AAYSHA 3x + 12 — (2x - 5) = x + 17 o[tk




